Manuals+ — User Manuals Simplified.

MTSIM MULTIPURPOSE-UFC Carrier for Table Mount
Instruction Manual

Home » MTSIM » MTSIM MULTIPURPOSE-UFC Carrier for Table Mount Instruction Manual =

Contents

1 MTSIM MULTIPURPOSE-UFC Carrier for Table Mount
2 Product Information
3 GENERAL ASSEMBLY INFO AND HOW TO PROFILE
NUT
4 PARTS
5 ASSEMBLY
6 WARNING NOTICES
7 Documents / Resources
7.1 References

? ‘Q

MTSIM MULTIPURPOSE-UFC Carrier for Table Mount


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/mtsim
https://manuals.plus/mtsim/multipurpose-ufc-carrier-for-table-mount-manual.pdf

Product Information

The Multipurpose-UFC Carrier for Table Mount is a versatile carrier designed for mounting various devices on a
table. It comes with a detailed instruction manual to guide you through the assembly process. The carrier includes
different parts such as profile nuts, bolts, hex keys, stop nuts, locknuts, and slot nuts.

Assembly Example
The assembly example provided in the manual demonstrates how to set up the carrier for the table mount.

Bolt Dimensions and Measurements
The manual provides bolt dimensions in millimeters (mm) and explains how to measure them accurately.

Parts Included

« 1x Multipurpose-UFC carrier for table mount

« 2x M5 double slot nuts

« 2x M5x12 flat head black bolts

o 2x M8x14 bolts

o 2x M8 stop nuts

o 4x M8 locknuts (selbstsichernd)

« 1x Hex key set with ball head + extension (or similar)
« 1x Open-end wrench (13mm)

« 1x Original part (M6x20) included with the device
Product Usage Instructions
1. Start by identifying all the parts mentioned above.

2. Using the hex key set or a similar tool, assemble the carrier according to the provided assembly example.

3. Tighten the bolts securely using the appropriate tools. For the desired viewing angle, adjust and tighten the



screws accordingly.

If necessary, use the open-end wrench (13mm) to further secure the assembly.

For additional settings after installation, follow the same procedure.

Use the double slot nuts (2x M5) and flathead black bolts (2x M5x12) to attach devices to the carrier securely.

Ensure the original part (M6x20) that comes with the device is properly installed.

©® N o g &

Refer to the warning notices in the manual for important safety information.

GENERAL ASSEMBLY INFO AND HOW TO PROFILE NUT

BOLT DIMENSIONS AND HOW TO MEASURE THEM [mm]

PARTS



2x

2x

2x

o0

I-:nclrénut_ hernd
selbstsichem

[dimensions in mm / different scales] No extra or spare parts listed!

ASSEMBLY




Set the desired viewing
angle, then tighten the

The procedure is identical for
settings after installation is
complete.

WARNING NOTICES

double
slot nuts

2xMb

CAUTION! Do not clamp your fingers while attaching the multipurpose ufc holder.



flat head
black

fﬂ
Méx20
original part
comes with the
device

0) g

Méx20
original part
comes with the
device

CAUTION! Check before usage that the multipurpose ufc holder is screwed on tight after making adjustments.
DANGER: Contains small parts not suitable for children under 3 years.

Only suitable for children over 12 years and adults. All MTSIM products are hand-assembled and quality checked.
The mount is designed for usage only with a computer controller (e.g. joystick or throttle). We exclude liability if
the product is used for purposes other than intended. MTSIM shall be liable for damage arising from causes other
than the detriment to life, body, and health only to the extent that such damage arises from wilful misconduct,



gross negligence, or the culpable violation of a fundamental contractual obligation on the part of MTSIM or a
vicarious agent (e.g. the delivery service) of MTSIM. Any further liability for damages shall be excluded. If you
have safety concerns or questions regarding assembly, contact us at info@mtsim.com or visit
www.mtsim.com/en/

Documents / Resources

iy | MTSIM MULTIPURPOSE-UFC Carrier for Table Mount [pdf] Instruction Manual
MULTIPURPOSE-UFC, MULTIPURPOSE-UFC Carrier for Table Mount, Carrier for Table Mount,
Table Mount

References

o " MTSIM — MONSTERTECH — Simulation Design — Offizielle Webseite
o " MTSIM — MONSTERTECH — Simulation Design — Official Website
o " MTSIM — MONSTERTECH — Simulation Design — Site officiel

Manuals+,


mailto:info@mtsim.com
http://www.mtsim.com/en/
https://manuals.plus/m/1f0b2505615cc2c66d39a3132864a1c597e546795e4ee045e835931d08da72b6
https://manuals.plus/m/1f0b2505615cc2c66d39a3132864a1c597e546795e4ee045e835931d08da72b6_optim.pdf
http://www.mtsim.com
http://www.mtsim.com/en/
http://www.mtsim.com/fr/
https://manuals.plus/

	MTSIM MULTIPURPOSE-UFC Carrier for Table Mount Instruction Manual
	MTSIM MULTIPURPOSE-UFC Carrier for Table Mount
	Product Information
	GENERAL ASSEMBLY INFO AND HOW TO PROFILE NUT
	PARTS
	ASSEMBLY
	WARNING NOTICES
	Documents / Resources
	References



